=Z2E 1 35 (EFE2 8S5&H%
=W B (L ZBR) EE
201 95E FIHEE (ZoMFEIL2VEGR)
BEREIESHEIAT—H—X-aLIT4TEEYAN
(AL - [)
| E2! B & % INET - BET
A = wm U
1 ZREE 174, 000
= CRTEEY 93, 000
I TE 81, 000
2 ZWEHE 0
7 B bt 4 0
Tt 5 5 52 AGTAM A% 0
3 ZmMEREE 700, 000
2 I Bh 4 0
= B 4 700, 000
4 EEINR 5,061, 540
FEIE (RE. TEC - BEEFE) 882, 770
FENL AR - HHE, BFICHE T HE) 4,178,770
5 ZDfhaiInis 21
SRR 21
# % I & Ft 5, 935, 561
[B] 8 % & H
IEETS
(1) A45ZE 4,759, 483
FABEF Y 4, 598, 483
A R Ak 161, 000
(2) ZDHhiEE 505, 416
iR F 22 mE 125, 983
WHEE 47,072
MR 133,919
Jiti 32 £ R L 135, 752
TR 31, 690
HERT 31, 000
X3 hHi 5, 264, 899
2 EEE
(1) A4ZE 619, 893
1 B 120, 000
FEBEF Y 422, 571
EEERE 77,322
(2) ZDHRE 311,095
TFE L 23,673
R 4,531
N5 61, 969
VS hiE ¢ 24, 261
WEE 8, 881
ERIR AR 24, 576
PRI 1, 500
HERT 142, 400
B 7, 000
MEEY 12, 304
EHER 930, 988
# B & B &t 6, 195, 887
B & % i@ @ [A]—[B] - - -0 ~260, 326
cl] # % 4 IR &=
& 7E & PE 7T A4S 0
AR EE R AR S IR 4R 0
M A 43, 052
# B 4N IR K E 43, 052
[D] # % 4 & H
i 72 pESE I 0
SKEHK 0
:@ﬁ;%ﬁi&ﬂ*ﬂé 0
# % 4 & H 0
ElE - iE B % [c]—[D] ---O 43, 052
Tt 5l pu L HI IF Dk Bf = 12 5 %8 D+ J6) 211,274
EARL, ERBILAOEER - - - @ 188, 100
AR E SR e - - - B 943,278
R_H O # B OF Kk B E O Q-@D+O 537,904




=

=

A1

5% (JEF 2 8 &%)

F X #H

= =4
=]

H

A4S I+
201 9%FE EfgWER
BEFEAEFEEAT—H—X-aLI2T4ITEEYARN
(HAL = 1)
el B & %8 INET - BEt
[AY & & B &b
1 _RBEE
2,521,516
Bleae 2,470, 741
A4 3, 000
B 47,775
mENEESE HO) 2,521,516
2 EEEE
(1) AREEEE 0
(2) BERETEE 0
(3) REZTDHMDEE 30, 000
Rttt B 4 30, 000
30, 000
2,551,516
[B=—1] & & @ f
1 Re9aE
843,612
K4 768, 862
FAD 4 4, 750
RITENBLSE 70, 000
nBaEEsE HE) 843,612
2 ExE&E
1,170, 000
A 1, 170, 000
EE8Essdt - - - @ 1,170, 000
& & & i ®+t® 2,013,612
[B—2] F B Bt E O =
BT A O e PR 943, 278
2 T IR S P B el -405, 374
IE ok B E & &t 537,904
[B] &8 & R U E K B E & i [B—1] + [B—2] 2,551,516




